HG-16MT ModBus #8577 (& F 55 AA

— ~ HG-16MT & A%l
AR X0~X7 ¥FEME W30000 (2 Bytes)
B YO~Y7 HEAIE W30008 (2 Bytes)

* ModBus &l :BEE RS ERER
U5 (1 Byte) : 5 1 5(0x01) / 5 2 15(0x02) / ...
g11F (1 Byte) : :&(0x03)
#E¥Rn 3 fUE (2 Bytes) : Read X HURERAIE (30000 = 0x7530) - Y HIEEIATUE
(30008 = 0x7538)
EER word 8 (2 Bytes) : X0~X15 3t 16bits =1 word
BER Byte 8 (1 Byte) : word £ *2 =2 Bytes
EER (nBytes) : kIR EMIEZEURTE Byte &

CRC #% & (2 Bytes) : 81 16MT @3l - B FHILN0 2 Bytes &N
1EERMET
V& 5I% 4 Start word CRC
Address WE
(1 Byte) | (1 Byte) | (2 Bytes) | (2 Bytes) | (2 Bytes)
Pl b ANEZEER - B 16MT &3

B :

BB —Ih3EEN ~ 7 16MT EH it W30000 ERIE] PC(HEHIZR) - &%E ML CRC
mEN - mEERTH

{Ox01, 0x03, 0x75, 0x30, 0x00, 0x01, OxXX, OxXX}

0x01 D 1L

0x03 : BERE 16MT
0x75 ~ 0x30 : #E¥afrE 30000
0x00 ~ 0x01 : & 1 word Eifl
Ox9E - 0x09 : CRC &



= * ModBus &EEERETVERAR
U5 (1 Byte) : 5 1 35(0x01) / 5 2 15(0x02) / ...
E)1E (1 Byte) : E(0x10)
tein = fUE (2 Bytes) : Write Y BRI E (30008 = 0x7538)
=2ER word 8 (2 Bytes) : YO~Y15 # 16bits =1 word
=ER Byte 8 (1 Byte) : word 8 *2 =2 Bytes
BEER (nBytes) : R EMIEZLEURTE Byte &
CRC 2 &H5 (2 Bytes) : #2 16MT B&fl - &EFIEN 2 Bytes 1 &5

1L.EER/ER

&SR B Start | word & | Byte & B CRC
Address WER
(1 Byte) | (1 Byte) | (2 Bytes) | (2 Bytes) | (1 Byte) | (n Bytes) | (2 Bytes)

BT E @A - B 16MT i3

Bl -

B —IhEH BERNT 16MT-E At W30008-E A 1 word ERl (2 Bytes)
ZY0OHE Ylon: BENMLECRCHER . HEHEBERWT -

{Ox01, 0x10, 0x75, 0x38, 0x00, 0x01, 0x02, 0x00, 0x03, OxC6, Ox2E}

D BIh
C BERE 1eMT
- 0x38 : #E¥RMIE 30008
0x01 : A 1word El
: 1word %1% 2 Bytes
0x03 : 16 #EfI 0x03 4L 2 #117 0000 0011 - #FEZR YO B2 Y1 5874 on
Ox2E: CRC &S

0x01
0x10
0x75
0x00 ~
0x02

0x00 -
0xC6 -



